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NERTESEERRE ERHR30FE1ABEN NERMTESEERE ERHR30FE1ABER
B#iE1 4% SFENERN ENERERXRS - NREE - FrZERRER (B4 FE) B#E1 4% SFENERN ENERERXRSD - NREE - FrERRER (B4 : FE)D
E:1) BEFHILDOERBAOBIEZEE LTS, E:1) BEFHILDBERBLAOBEZEEE LTS,
2) EXETFEHDSH. MEBHBAIRSAARELZEDIZTDONVTEE LTS, 2) HEXETFEHDSLH. FEBRBAIRSAARELZEDICTONVTEE LTS,
3) #HBEZIE, BOERTCENEICEZREICER LG -EZED, 3) #HBZIE. BOEFTENEIEXEICER LG -EEZED,
e BENE1 ENE2 ENES ENEL ENES a3 BENE1 ENE2 ENES ENEL ENES
e 23266 3817.7 4863. 2 4746. 1 4979. 4 4859. 5 b 23266. 8 3817.8 4863. 3 4746. 2 4979. 6 4859.
Bk iE 2053 K il 4110. 1 320. 1 622 984.7 1215. 1 968. 2 227N 2057 ki 4110.9 320. 2 622. 1 984.8 1215. 2 968.
202 LA E ~3057 ki 7980. 2 511.2 986. 8 1672.7 2302. 6 2506. 9 207 LA E ~3097 K 7980. 2 511.2 986. 8 1672.17 2302. 6 2506.
307 ~ 1 B5fE 2361.6 425. 4 523.4 399.8 407.8 605. 3 307 ~ 1 B5fH 2361.6 425. 4 523.4 399.8 407.8 605.
1 B¥fE ~ 1 B¥[E305 193.2 30.3 44 32.3 29.2 57.3 1 B ~ 1 B¥fE30%9 193.2 30.3 44 32.3 29.2 57.
1 BREI30% ~ 2 B§fE 41.5 6.5 9 6.2 5 14.9 1 B30 ~ 2 BFfE 41.5 6.5 9 6.2 5 14.
2 F5fE ~ 2 B¥fE30% 8.6 1.7 2.1 1.3 1.1 2.3 2 B fE ~ 2 BfE30% 8.6 1.7 2.1 1.3 1.1 2.
2 BFfE1309 ~ 3 Bl 6 1.1 1.4 0.8 0.6 2 2 B304 ~ 3 Bl 6 1.1 1.4 0.8 0.6
3 B ~ 3 BfE304 2.3 0.5 0.6 0.3 0.2 0.5 3 B¥fE ~ 3 FFfE30% 2.3 0.5 0.6 0.3 0.2 0
3 BFfE3045 ~ 4 R 1.6 0.3 0.4 0.2 0.2 0.5 3 B¥fE1305 ~ 4 B 1.6 0.3 0.4 0.2 0.2 0.
4 FFREILLE 1.6 0.3 0.5 0.2 0.2 0.4 4 FFREILLE 1.6 0.3 0.5 0.2 0.2 0
BIANE205 L E~300 K BIRNE20 L E~3070FKiE
EREM20H5 U E~450 K 1842.5 338. 1 409 412.5 370. 1 312.8 E£EE205 U E~450 KR 1842.5 338. 1 409 412.5 370. 1 312.
HEEB4SS ~70% 630.5 140. 1 184.6 133.8 98. 1 73.9 HEIRBNAG Y ~70% 630.5 140. 1 184.6 133.8 98. 1 713.
HEEMIOSLLE 158. 4 34.6 52.4 34.3 21.1 15.9 HEEMIONLLE 158. 4 34.6 52. 4 34.3 21.1 15.
BIANED L E~ 1R BIRNEI0D UL E ~1BRIRE
EEEN20S U LE~450 K 422 90 117.2 78.8 61.5 74.5 £EEN20S5 U E~450 KR 422 90 117.2 78.8 61.5 74.
HREMASS ~70% 230.2 41. 4 712.5 49 33.6 33.7 HEEBNAS S ~70% 230.2 41.4 72.5 49 33.6 33.
HEEMIOSLLE 61.7 10. 2 20.2 14.8 8.4 8.1 $EERIOS UL 61.7 10. 2 20.2 14.8 8.4 8.
SARNEIRBLE~T1EM30SRE B RN E R L~ 1R300 K&
EFEEM20D U LE~450KE 38.9 4.9 9.6 8 6.2 10. 2 E£EEM205 LU E~450 KR 38.9 4.9 9.6 8 6.2 10
HEEBNAS S ~70% 19 2.3 4.9 4.3 3 4.5 HEIRBNAG Y ~70% 19 2.3 4.9 4.3 3 4.
EEERIOS UL 11.6 1 3 3.2 2 2.4 HEEMIOS L E 11.6 1 3 3.2 2 2
BANEIRRI0 LLE ~ 265K i AN E1RRE309 UL E ~ 28R R i
EREM20H5 U LE~450 K 4.4 0.6 0.9 0.7 0.6 1.5 EREM0S UL~ KE 4.4 0.6 0.9 0.7 0.6 1.
HREMASS ~70% 3.8 0.4 0.8 0.6 0.7 1.2 HREMASS ~70% 3.8 0.4 0.8 0.6 0.7 1.
HEEMIOSLLE 2.3 0.2 0.5 0.4 0.4 8 $EERIOSLULE 2.3 0.2 0.5 0.4 0.4 0.
B AN E 28R Ll E ~ 2851813099 K 5ifs B R 205/ LU E ~ 20581300 R i
EFEEN20D UL~ KE 1.9 0.2 0.2 0.2 0.5 0.8 H£EEN20S U E~450 KR 1.9 0.2 0.2 0.2 0.5 0.
4 EEBNAS S ~70% 0.9 0.1 0.2 0.2 0.1 0.3 HREMASS ~70% 0.9 0.1 0.2 0.2 0.1 0.
HEEBTI0ON UL E 0.8 0.1 0.1 0.1 0.1 0.5 HEEMIOS L E 0.8 0.1 0.1 0.1 0.1 0.
BR 2051300 LU £ ~ SBF R R 57 B R 20581309 LA £ ~ 3B e oK il
EREM20H5 U LE~450 K 0.5 0.1 0.1 0.1 0 0.2 EREM20S UL~ KE 0.5 0.1 0.1 0.1 0 0.
HRERASY ~70% 0.5 0.1 0.1 0.1 0 0.2 HEREMASS ~70% 0.5 0.1 0.1 0.1 0 0.
HEEMIOSLLE 0.3 0 0 0 0 0.1 HEEMIONLLE 0.3 0 0 0 0.
B A IR LL E ~ 35813097 K il B A &3 E ULk ~ 3BE 300 R i
EEEN20HS UL~ KE 0.2 0 0 0 0 0.1 EEEN20S U E~450 KR 0.2 0 0 0 0 0.
HRERMASS ~70% 0.2 0 0 0 0 0.1 HREMSS ~70% 0.2 0 0 0 0 0.
HEEEMIOSLLE 0.2 0 0 0 0 0.1 HEERIOS UL 0.2 0 0 0 0 0.
B RN HE30FMEI305 LLE ~ 4BFfE R i B RN E3RFREI300 UL E ~ABFfE R
EREM20H5 U E~450 K 0.2 0 0 0 0 0.1 EEER205 U E~450 KR 0.2 0 0 0 0 0.
HRERASS ~70% 0.1 0 0 0 0 0 HEEMASS ~70% 0.1 0 0 0 0
HEREMIOSLLE 0.1 0 0 0 0 0.1 HEEMIOSLLE 0.1 0 0 0 0 0.
BN EIRRLLE AN EARREL L
EEEN20HS U LE~450 K 0.1 0 0 0 0 0 HEEEN20S U E~450 KR 0.1 0 0 0 0
HIRERASS ~70% 0.2 0 0 0 0 0.1 HREMSS ~70% 0.2 0 0 0 0 0.
HEEMIOSLLE 0.2 0 0 0 0 0.1 EERIOSLUE 0.2 0 0 0 0 0.
4EER 2057 L E ~ 455> K i 1549. 3 472. 1 523.2 328 158.7 67.3 HEER 20 LI E ~A4559 K 1549. 3 472. 1 523.2 328 158.7 67.
4EER 455758l 3578. 4 1383.6 1273.2 578.1 252. 1 91. 4 HEER 455 Ll £ 3578.4 1383. 6 1273.2 578. 1 252. 1 91.
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